COS 528


Problem Set No. 2


Due Mon. Oct 6th
Fall 2003

1. Implement catenable steques in pure LISP so that each operation takes 
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time worst-case, using the following representation:

A catenable steque is either a buffer of 0 to
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 elements for some fixed 
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or consists of a prefix, a catenable steque of entries, and a suffix. Prefixes and suffixes contain 1 to 4 elements. An entry is either a buffer containing two or three elements or a pair consisting of a buffer of two or three elements and a catenable steque of entries.

Hints: implement catenate using inject. What is the regularity condition? For small steques, are there certain configurations that should be forbidden? What data structure supports 
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- time operations? How small can you make 
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